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Abstract

This document contains supplemental materials for “Constrained Efficiency in a Human
Capital Model ”. We discuss the implementation of the constrained efficient allocation, formally
analyze the effects of consumption poor household’s relative income sources on pecuniary ex-
ternalities, provide a further sensitivity analysis, and discuss the effects of the time investment
model and the effects of different market structure. We also provide the proof of propositions
in the main text and formally derive the planner’s first-order conditions in an infinite horizon

model.
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A Implementation of the constrained efficient allocation

In this section, we discuss how we can implement the constrained efficient allocation. The
constrained efficient allocation can be attained if the government directly modifies each consumer’s
savings and human capital investments. We can also implement the constrained efficient allocation
as a competitive equilibrium using a tax(subsidy)-transfer(lump-sum tax) system that is history
dependent and induces no reallocation of income across individuals or realization of idiosyncratic
shocks.

In the two-period model with additive idiosyncratic shock, history-dependent taxes and trans-
fers are represented by the initial heterogeneity-dependent taxes and transfers. The tax(subsidy)-
transfer(lump-sum tax) system is then completely characterized by the linear proportional tax rates
of capital income and labor income (7% (k, h), 77(k, h)) and transfers (T'(k, h, €)), which are functions

of initial wealth and human capital (k, h) and idiosyncratic shock realization e.

Proposition 5. There exists a triple of history-dependent capital income tax rates, labor income tax
rates, and income transfers (1i(k,h), 7(k,h), T(k, h,e)) that implements the constrained planner’s

allocation.

Proof By setting capital income tax rates and labor income tax rates in the following way, the Euler

equation of the competitive equilibrium and the constrained planner’s problem become equivalent:
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Then, the following transfer function, which imposes no income transfer across agents, implements

the constrained efficient allocation.
T(k,h,e) = 7prk’ (k, h) + Tw[h' (k, h) + €]

|
Or alternatively, we can implement the same allocation using linear tax rates! of capital income

and linear subsidy rates of human capital (7x(k, h), s(k, h)), lumpsum taxes in period 0 Ty(k, h),
and lumpsum transfers in period 1 Tj(k, h), such that 7 (k, h) is set as in (1) and s(k, h) is set to

5996;1 Ap

s h) = i eoleo (R, 1))

!That is, with subsidy, the cost of investing x;, in human capital is (1 — s(k, h))zn(k, h)



B Formal Analysis of Section 3.1 and Supplement of Section 3.2

B.1 Effects of consumption poor households’ relative income sources

In section 3.1 of the main text, we discussed the importance of relative income of the consumption
poor. We formally show its importance in this section. First, we investigate the importance of
consumption poor households’ relative sources of income — human wealth vs. nonhuman wealth.
From the baseline distribution, we now make two different e-perturbations: 1. e-perturbation

around hi, and 2. e-perturbation around hs. The perturbations have the following forms:

[Casel] [Case2]
ip if (k/a h/) = (kla hIE) %p if (kl7 hl) = (klv hl)
ip if (k/v h/) = (klv hi‘r€) i(l - p) if (kl, h/) = (kh hQ_G)
$(L—p) if (K, 1) = (k1, ho) (1 —p) if (K, h') = (k1,h3°)

N W) =43 L " n(k,n) =141 I ’
11 —=p) if (K, 1) = (k2,h{") s(L=p) if (K, 1) = (k2,h1)
i(l —p) if (K',h) = (kg,hfe) ip if (k',h') = (ka,h3 )
%p if (k/v h/) = (k27 hQ)a %p if (k/7 h/) = (kQa h;e)a

where where

hic=(1-0,1+¢€), hi=(1-0,(1-¢) hy®=(1+0,(1—¢), hi‘=1+0,1+¢)

Both case 1 and case 2 have the same mean and variance of k¥’ and A/, but the perturbation in
case 1 makes the consumption poor household have less human capital compared to the case 2
perturbation. The next proposition shows that in an economy where the consumption poor have
relatively less human capital, Ag|cg is relatively lower, even though the measure of inequality of

wealth and human capital does not change.
Proposition 6. Suppose that € > 0, — 0. If 5 9’“ < lao‘ or p 2 L Ap|&set < Ap|Soget.

Proof We need to show that Ay|4¢T — A |45l < 0. Using a CARA-normal specification,

2
A |casel A |casel _ —¢FHFHK025 exp(% )[Acasel Acase?]

2
+ exp(%w o )FKKKB[Acasel AcaseZ]



where

Acasel

A casel
Ak,Q -

A case2
Ak,l

A case2
Ak,Q

—p

1 1
p [Zu'(whlE + k1) + ' (whi® + rk‘1)] + u' (why + k1)

2 2

1-— 1 1
—i—Tp {QU’(whl6 +rkg) + iu'(whfe + rkg)] + gu’(whg +rkg)

1-— 1 1
Py (why +1k1) — e {u'(wh;e + k1) + ~u/ (whi€ + rkl)}

2 2 2 2
pu’(whl_€ + ko) — 1_Tp [;u’(wh; + ko) + %u'(wh;‘6 + T‘kg):l
§ [ Gutony  mka) (G = M) Gl 4 k) (G - ’}H Lty i) (B - 22
+1—Tp {u’(whfe + rkg)(% - h;;e) + %u'(whfe + Tkg)(% — h;:)} + gu’(whg + 7’]{}2)(% — %)
_gu’(whl + rkl)(% — %) - 1;7p [2 (whg © + rkl)(K h;:) + %u’(th+€ + kl)(% — hﬁ;)}
L, + rkg)(% - %) - g [; (why € + rkg)(%z - h;; ) + ;u’(wh+6 + k'g)(I;? h;[)}

We want to show Al — Agese? > 0 and Al — Af%e2 > 0. First, Al — Af%? can be

rewritten as follows.

where

Azﬁsel _Ait’zis& — pA+ B

A= {; (W (why €+ 1k1) + W/ (whi® + rki)] — o' (why + rkl)} — {; [0 (why € + rks) + v/ (wh € + rks)] — v/ (who + Tkg)}

B:{1

1
[t (whi €+ rks) + v/ (whi® +rks)] —u'(why + rkg)} - {2 [u'(why € + rk1) + v/ (wh3® + rk1)] — o/ (why + rkl)} .

Since v’ is decreasing and convex and why + rky < whg + ks, A > 0. Similarly, if why + rke <
whg + rk; then B > 0. If 9’“ < =2 then wh) + rkl < whl + k], by the following.

(@

KaHl—a [((1
2K H' ™ [afy — (1 —a)fp] <0

(why + rkj) —
a KaHl‘ah—/l + ozKo‘Hl_o‘k—,Q — k) — [ (1 - a)Ko‘Hl_ah—IQ + aKO‘Hl_"‘k—/l — Ok
H K ko H kR

(wh, + rk})

K
@)(1—0y) + a1l —60;) — (1 — a)(1 4 04) + (1 — 0;))] — 0p(ky — k1)

.e O l1—a Acasel A case2

In the other case, despite negative B, A+ B > 0 since ’ is decreasing and convex (why + rk; <



whg + rky and why + rke < wha + rke). Thus if p > % then Ai‘ffel — Ai‘ff‘ﬁ > (0 because

- ~ 1-— 2p—1
Ai?fel_A%Cffez — Tp(A+B)+ p2 A>0.

Next, A¢asel — A¢ase2 can be written as follows after some algebra.

ARt — Aje? = g [{(611 — d22) — (X11 + Xo2) }(0k — On) + (011 — d22)(e — (O — On))]
+%[(512 —021)€ + (Xi2 + Xo21) (0 + 61,)] (3)
where
Xij = %[u'(whfe + 1rk;) + o' (whi€ + rkj)] — o (wh; + rk;)
oij = %[u'(wh;6 +rk;) — ' (whi + rk;)]

The first term in the first bracket is positive because

(611 — 622) — (Xu1 + X22) = (611 — X11) — (622 + X22)
= [u/(why + k1) — v (wh{€ + rky)] — [u/(why € + rk) — v/ (wha + rk2)] > 0.

From (3), the second term in the first bracket is also positive because 611 —d22 > 0 and by assumption
€ > 0, — 0. The second term in the second bracket is positive because X;; > 0 for all ¢, j and thus
we only need to show that the first term in the second bracket is nonnegative. If z—z < 1?707 then
wh) + rky < whb + k] and thus 612 — d2; > 0.

On the other case (z—ﬁ > 1oa) Agasel  Agase? g still positive if p >

Aiafez can be rewritten as

%. This is because Ai“lsel —

A casel xcase2  __ 1—p {(511 - Xll) - (521 - X21) + (512 + X12) - (522 + XQ?)}(QIC - 0}1)
AT — AR = ——

2 +{(611 — d22) + (612 — 621) } (e — (O — b))

+2p2— ! [(011 — d22)e — (X711 + Xa22) (0 — 61)]

and we can easily show that every bracket is positive.

1 1 P 0 ~ 1— 1
In sum, Ag|¢EE™ — AplEE < 0 if either gk < 2% or p > 3. [



Figure 1: Effects of correlation on Agi|cg Figure 2: Effects of correlation on Ags|cg
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B.2 Supplementary Graphs for Section 3.2

Figure 1 and Figure 2 show the effects of correlation on Agi|cp and Ags|cp with three different

coefficient of risk aversion v, using the numerical example in section 3.2.

C Infinite Horizon Model: Competitive Equilibrium and Constrained Ef-

ficient Allocation

In the main text, to save space, we did not define a competitive equilibrium and derive the planner’s
first order conditions. In this section, we provide the formal definition and proposition for the first

order conditions.

Definition 7. A recursive competitive equilibrium is a value function, v(¢, k,h; A), policy functions
c(®,k,h; A), K'(®,k, h; A), (@, k, h; A), prices r(®), w(®), and an aggregate law of motion, F s.t.
1. Given w, r, and F, policy functions c, k', zj, solve the household’s problem and the associated

value function is v.

2. The price functions satisfy r(®) = fx(K,L), and w(®) = fr(K,L), where K = [ kd® and
L = [ hd®.

3. F(®) = T(®,Q)



A steady state for this economy is an invariant distribution ®, which is the fixed point of the

updating operator T'.2

The following proposition provides the first-order conditions of the constrained planner’s problem,

which provides the characterization of the constrained-efficient allocation.

Proposition 8. If the distribution ® admits a density, the first-order necessary conditions of problem

(13) are the following functional equation in the decision rule k', xp,*: For all {k,h, A} € S,

1. First-order condition with respect to k'’

o (R(L+7(®@)) + hw(®@) — K (D, k, by A) — 23" (@,k, h; A))
> B(1+7(®)E,y [u (¢ (@, &k, h,n; A))] + Ay, where
(@, @, k, by A) = K (@, k, by A)(1+ (@) + 1/ g(h, 2p* (@, &, h; A), A)w(@')
K@ K (@, k, b A), 1 g(hy (@, K, by A), A); A)
— (O K (®, k, hy A),n g(h, 2" (@, k, s A), A); A),
Ap = B/SU’ (K'(1+7(@)) + Hw(®) — k' —a3,) [ fex (K", L') = I fux(K', L)] d@,

where the inequality becomes an equality if k' (®, k, h; A) > 0

2. First-order condition with respect to xp

o (k(1+7(®))) + hw(®) — K™ (@, k, h; A) — 2;(@, k, h; A) )

= gap, (h, 2" (®, k, h; A), A)BE,m'u/ (c*(®,9, k, h,n; A))

« J (@) + g (' g(h, x5 (®, k, h; A), A), x5 (¥, k" (®, k, h; A), ' g(h, x5 (®, k, h; A), A); A), A)
gxh (n/g(ha ZL’Z((I), ka ha A)? A)? l’;;(q)/, k/*(q)a ka ha A)? U’g(h> l’;;(q), ka ha A)? A)’ A)? A)

+gl‘h (h7 xh*(q)7 k7 h7 A)7 A)Ah7

3. A =—%A,

Proof See the Appendix G.2 [ ]

D Robustness with respect to (0,,04)

In the main text, we did some sensitivity analysis to see the robustness of our quantitative result.

In this section, we support the robustness by performing another sensitivity analysis with respect to

2Even though the production technology is constant returns to scale in human capital that is accumulated over
time, there is a steady state because, at the individual level, the household faces a diminishing marginal product of
human capital (¢ < 1).



Table 1: Sensitivity analysis

In
0.111 [ 0.12 [ 0.13
o4 (recalibrated) 0.148 | 0.134 | 0.117
Optimal Capital-labor ratio | 15.04 15.03 15.08
pima Interest rate | -1.65% | -1.65% | -1.66%
. bottom 20% +/% | 0.012 | 0.016 | 0.017
Optimal corr(k, h) 0.61 | 058 | 0.56
k /h
cp | bottom 20% /7 | 0.014 [ 0.012 | 0.011
corr(k,h) 0.75 0.75 0.76

the parameters that impact human capital inequality — the standard deviation of the idiosyncratic

shock o, and the standard deviation of the learning ability o 4.

Table 1 shows the results for various combinations of (o,,04). For each o, we recalibrated o4
to generate earnings Gini 0.60. Since we also recalibrated § to generate the interest rate 4%, the

capital-labor ratio in a competitive equilibrium is identical to that in the baseline model.

As we can see from the Table 1, varying the variance of shock (o) is not crucial for the quan-
titative result as long as the model is calibrated to match the earnings Gini. This is because of
the following reasons. Since the human capital inequality is generated by the heterogeneity in the
learning ability and the shock to human capital, when we increase the variance of the shock, the
learning ability inequality should be reduced to match the same earnings Gini. Lower A-inequality
makes the redistribution channel through human capital weaker (higher Ao ), while the insur-
ance channel becomes stronger (lower Ag1). As a result, the two effects offset each other, and the

optimal capital-labor ratio is not very sensitive to varying o,.

E Time Investment Vs. Money Investment in an Infinite Horizon Model

In section 2.2 of the main text, we already discussed the different implications of the time investment
and money investment models using the two-period model. In this section we briefly analyze the

time investment model in an infinite horizon model.

Consider the following version of a time investment model as in Huggett et al. (2011). Households
have 1 unit of time every period and allocate time between human capital investment (s) and labor
supply (1 — s). A household with learning ability A that has human capital h; in period ¢ and
invests time s; will have human capital in period ¢ + 1, hy11 = ne19(hey ¢, A) = 1 {(1 = Sp) by +
A(sthg)?}, where 1,11 is an idiosyncratic shock to human capital. The period budget constraint of
the household is ¢; + ki1 = k(1 + r) + w(1 — s¢)hy, where (1 — s¢)hy is an effective unit of labor
supply.



First, we analyze the impact of the time investment model on Ag. The Euler equation of the
constrained planner takes exactly the same form as in the money investment model with a slightly

different Ay, which can be decomposed into:

e = —FiiK [ [o() [ 1] fo)d/do (4)
0 1= Sit) S sy do

+E KKK/ / { B l}f R T [1— LA o) de

With a general utility function, we cannot do an exact additive decomposition, but a rough de-
composition in (4) shows that there is an additional channel through the labor supply dispersion
in the time investment model — the first integral in the third term of (4). This is because there
is an endogenous labor supply dispersion in the time investment model, but this redistribution
channel through the labor supply dispersion did not show up in the two-period model, because
period 1 is the last period with full labor supply (s = 1). With the new labor supply channel, if the
consumption poor household works more than the consumption rich household due to the income
effect, then this labor dispersion channel is likely to increase Ay compared to the money investment
model. Thus, time investment might weaken the endogenous human capital’s implication for the

overaccumulation of capital.

Note that the relationship between A, and Aj remains in the time investment model: A, =

—%Ak. Thus, most of the analytical results in the money investment model still apply.

Next, we discuss that the signs of Ax and Ay are not sufficient to evaluate overinvestment in
human capital. We already discussed this in section 2.2 of the main text, however, in an infinite-
horizon model, the implication of the sings for under-/over-investment in human capital is even

more involved. We can see this from the planner’s first-order condition with respect to s :

gpl’ gl
whu'(c) = gswBE {n’ {(1 -8+ g/} u’(c’)] + {—h + BgsEn’ {(1 — )+ } }Ah.
s s
The second term on the right-hand side is an additional term arising from the pecuniary exter-
nalities. Suppose that Ay is positive. Even if Ay is positive, increasing s has costs and benefits.
First, increasing s decreases the labor supply in the current period by h, which creates cost —hAy,.
Second, increasing s increases human capital and thus the labor supply in the next period by
gsE[n'(1 — §')] and thus generates benefit Sg;E[n'(1 — s')]A,. Lastly, increasing s decreases s’

and thus increases the labor supply in the next period (1 — s') by g E[n’ %]

and thus generates
additional benefits SgsE[n/ gh’h JAp. Thus, we need to compare the cost of decreasing working time
(1 — s) and the benefit of i 1ncreasmg the effective labor supply (h'(1 — s)), to determine whether

there is over-/under-investment in human capital.

In sum, in the time investment model, the implication of the pecuniary externalities requires



more investigation of the effect of the labor supply dispersion and the relationship between s and
aggregate L (in the steady state), which is left for future study. However, we would like to emphasize
that the redistribution channel through human capital inequality still exists and its implication for

the effective labor supply is exactly the same as that in the money investment model.

F Extension: Different Market Structure

In this paper, we analyzed the pecuniary externalities in a standard incomplete market model where
the market is incomplete because there is no state-contingent asset. With this market structure,
we could show that introducing human capital dispersion can reduce the marginal benefit of saving
through pecuniary externalities and thus lower the optimal capital-labor ratio. The pecuniary
externalities can exist in an economy where the market is incomplete for endogenous reasons.
However, the sources of pecuniary externalities and their implication depend on market structure.
Although analyzing pecuniary externalities in different market structures is beyond the scope of
this paper, we briefly discuss the effects of introducing human capital in other market structures.
As an example, we consider an endogenous incomplete market due to limited commitment and
show that introducing human capital can affect the pecuniary externalities in the same directions

but for very different reasons.

Consider a limited commitment economy where the amount of asset trading is endogenously
restricted because agents can default on the debt contract, as in Kehoe and Levine (1993). The
asset market is complete with a fully state-contingent asset, but the following enforcement constraint
should be satisfied :

S5 B (I (e (7)) > VA (s ),

T= tST|8t
where VA% (hy, sp;wy) is the value of agents who default in period ¢ with human capital stock hy
after realization of a shock s;. Once an agent defaults, then she can never access the financial
market again and thus should live in financial autarky. However, human capital investment cannot

be restricted even after deviation and thus the value of deviation is the following :

VAUt(ht,St;'UJt) — Z Z BT tr T|S ( (St))

7— tSTISt

s.t. c(st) + z(s") = wi f(he, 51,
hi(s') = g(ha(s"1), 2 ().

In a limited commitment literature, it is well known that a competitive equilibrium is not con-

strained efficient because of pecuniary externalities even though both households and the planner



are facing the same participation constraints (Kehoe and Perri (2004), Abraham and Carceles-
Poveda (2006), and Park (2014)). Compared to the household’s Euler equation, the planner’s
Euler equation has an additional term, exactly because of the pecuniary externalities through au-
tarky prices. Increasing aggregate capital increases the wage rate in autarky wy, which tightens
the enforcement constraint by increasing the value of deviation. The planner wants to tax capital
income to internalize these pecuniary externalities, and the externalities become stronger when we
introduce human capital. Human capital cannot be taken away when people are deviating and
thus the value of deviation VA“t(ht, st;wy) is more sensitive to the wage rate when there is human

capital.

Thus, we can see that even in an endogenously incomplete market due to limited commitment,
adding human capital tends to decrease the optimal capital-labor ratio from the perspective of the
planner who wants to improve the pecuniary externalities. However, the sources of the pecuniary
externalities are very different across models, and thus analyzing the effects of introducing human

capital with different market structures will be an interesting question for future research.

G Proof of the Main Text

G.1 Proof of Proposition 4

We first rewrite the Ag1|cp and Ags|cp, using some simple algebra.

2
Ak1|CE = —LbFHFHKBel’p(%FEIUS) /k' " u'(wh’ + rk:’)l“l(dk:’, dh/)

2
= —LZJFHFHKBEI‘]?(%FEIUS)

15240 (why + k2) + B/ (wha + 7k2)

B/ (why + 7k1) + %u’(whg + rk1) ]

/ /
— —de’dh
. H]l )

Su/(why + 1k1) [% Fl] + 1520 (whs + k1) { — b
] :

K
+12p /wh1+7’k2 {?2—%} pU(U/hQ"i‘?”k?Q) [?2_%

2
Apoler = FKKKﬁewp(%Fﬁaz)A,h '(wh! + rk) [

2
= FKKKﬂerP(%F?IU?:) [

(i) By differentiating Ag1|cr with respect to p, we get

2 u' (why + rky) — w (wha + rky
BA/E;/JCE :—%FHFHKﬁeﬂEP(%FE[Ug) ( (/ ) (/ ))
— (W (why 4 rka) — v (wha + rk2))
where the last inequality holds because v’ is decreasing (u” < 0) and convex (u” > 0).

)

(ii) By differentiating Ags|cr with respect to p, we get

8A%2|CE _ %FKKKﬁew'p(%QFEIO'g) (Gk — Qh) (u’(whg + Tkg) — u’(whl + Tkl)) .
’ —(Ok + 0p) (v (why + rk2) — v/ (whe + 7k1))

10



Since 0 > 0y, whe + rko > why + Tk, the first term in the bracket is negative. If g—’; < fT‘)‘,
then why + rky < why + rky, as shown in the proof of Proposition 6. Thus, u'(wh; + rke) —
o' (why + k1) > 0, and the second term in the bracket is also negative. Since Fix g < 0 and

the whole bracket is negative, % >0

G.2 Proof of Proposition 8

Proof We prove the proposition based on a sequential formulation of the constrained planner’s
problem. We denote a density of the distribution of capital, human capital and learning ability at
period t by ¢;. Then, given density ¢, a sequence of the policy rule {k’; (1, k, h; A), xpe (4, k, h; A)}

of the constrained planner’s problem must solve

maXka/tht Z ﬁt L u(ct)wt(kv ha A)dS
t

s.t. e+ Kt (e, k, by A) + xpy (U, kb A) = k[1 4 fre(K (W), L(y)) — 0k] + R fL(K (), L(10r))
ht+1 = 77,9(h> xht(wtv ka ha A)? A)
given P

where  K(iy) = /S kpdS, L) = /S h bedS

Therefore, the planner’s optimal policy rules &'* and x;,* that instruct a household with (k, h, A)
today to save k'*(k, h; A) and invest in human capital z,*(k, h; A) given the density of today ¢ and

E" and h" (thus, z},) tomorrow must maximize

maxy g, /S w (K[1+ fre(K @), L)) — 5] + Ao (K (8), L)) — K — o) ¥dS

48 w18+ el @), D) = 5+ W oI ), E) — K — ) vl
s.t. ' =n'g(h,zn, A)
where 1 is the density of distribution ® = T'(®, Q(-; k', xp,))

which is equivalent to maximizing

maxpy/ g, /SU (/C[l + fK(K(’(/J), L(d))) — 5k] + hfL(K(¢), L(d}» K xh) bdS
08 L[ 0 010+ A0, BN B0, L) — =) | s

11



Then, we derive the first-order conditions variational approach. First, we derive the first-order

condition with respect to k. The variation policy rule,
kle (w7 kv h7 A) = kl*(¢7 k? h7 A) + €Xh=ho,A=Ag,k>kq

should be suboptimal. Define

W) = [ [ {1+ FicCR ), L) = 6]+ hAn (), L) — K K A) = (6, s )
#8 [ (ks A1+ (T, 2 001) = 0
g, A)fu (T (0K ), L)) = K —3) 0 o

Then, the derivative with respect to € at 0 of ®(e) must be 0.

wl0) = [ [ ({1 + FR (), 20) = 8+ hofu(K(9). L(w)

de
—K" (1, , ho; Ao) — &, (, k, ho; Ao))
AL+ S W T @) = 0l [ o (KW hos A0)[1+ fic (K6, L'(6) = 4]
n
+1'g(h, 2y, A) fo(K' (@), L'(Y")) — K" — =3,) f(n)dn'] (k. ho, Ao)dk

)
( K (3, ey b AL+ Fre (K (), L' (1)) — 6] )
' / / ' g(hy i, AY (K (8), L' (8)) — K —
X (K™ (10, ke hs A) frere (KT (8, L))
+n'g(h, x5, A) frie (K'(), L'(@)} x [ 4b(k, ho, Ao)dk

dn/pdS

=0

since the right-hand side of the above equation is a constant function equal to 0. Thus, its derivative
with respect to kg must be 0. That is, for all kg, hg, Ag,

—u (ko[l + [ (K (), L)) = 6k] + hofr(K (), L)) — k" (¢, ko, ho; Ao) — 7,4, ko, ho; Ao))
+ B+ fr(K'(), L' (4))0k] /77 u' (K™ (4, ko, ho; Ao)[1 + fr (K'(¢), L'(¢)) — 6]

g ho, ok, Ao) fu (K" ('), L'(8)) = K — ) 7 o
8 [ [ SN WD e 0, D) = 0 ol g, A) (K@), () = K i)

{k’*w,k,m A)frexc (K (&), L)) + 1l g B, 7, A) frie (K@), L' (&) f]d/ wdS = 0
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That is, for all (k, h, A)
o (K[L+ (@) + hw(@) — K (D, k, h; A) — 27,(®, k, h; A))
= Bl1+r@)E, [v (c(®,® k h,n'; A))] + Ay
where Ay, = / o (KL + (@) + Ww(®@) — (@, K, 1'; A) — aj, (2K, 1'; 4))
S
X [k‘/fKK(K/, L,) — h/FLK(K/, L/)} d‘I)/

Next, we derive the first-order condition with respect to z. Variation policy rule,

(Y, k, hy A) = 23" (Y, ky by A) + €Xk—ko, A= Ao, h>ho

should be suboptimal. Define

Wop(©) = [u (L S (K W), L) = 6] + hFL( (), L) = K (k. b, A) = 5 (k. b, 4))
4 (R0 b AL+ (K780, E (T 20)) = 6

+n0'g(h, xh, A) fL(K' (W), L(T (W, 2n))) = K" = @p,(24,)) £ (0 )dn']pdS
where x} (z3°) is o}, s.t. 0"g(n'g(h, x5, A), 2}, A) = h”

Then, the derivative with respect to € at 0 of ¥, (¢) must be 0.

d

T, (0) = /h ol (koll + S (K (), L)) — 8] + hfL(K (), L(8)) — K (6, ko, hs Ao) — (4, ko, b, Ao))

+/ngh (h7$h*7 AO)
% // UI(k/*[l + fK(K,(Tp/), L,(wl)) - 5k] =+ n'g(h, x;(wv kO? h; AO)? AO)fL(K/(d/)v L/(d)/)) — k" - x;L)

n
gh(hla x;p AO)
Gap, (W, 25 Ao)

+ B/S/ﬁ/ f) [ul (KL + fre(K' (), L' (¥")or] + 1 fro(K' (), H () — k' — 2},)
< AR (W kb A) fren (K (W), L/ (0) + ol g (s, A) fro (K (0), L) }

« /h G, (s 25, Ag) (Ko, b, Ao)dh]difbdsS
0

X1y {fL(K’(d/), L'@)) + } f)dn'Jp(ko, b, Ag)dh

=0

13



since the right-hand side of the above equation is a constant function equal to 0. Thus, its derivative
with respect to hg must be 0. That is, for all kg, hg, Ao,

o (ko[L+ fre(K (4), L)) = 8] + hoSo(K (), L(¥)) = K (b, ko, ho; Ao) — 24" (1, ko, ho; Ao) )
+ Bgay (hosan” Ao) [ 0l (K (0 ko, hos AL+ fic (K (), L'(81)) = &

7
gh(h‘lv x;p AO)
zp, (h/7x;w‘40)

+ gu, (hos 2", Ao B// F) ! (K ks AYL+ i (K'(), L' (01) — 8]

+1'g(h, z},, A) frL.(K'( ),L’(iﬁ)) K" — )
x {k'*(w, kb A) fren (K (4'), L(¥') +n'g(h, wZ,A)fLL(K’(w’),L(w’))}]dn’wds' =0

+n'g(ho, x,, Ao) fL(K' (V') L'(¢)) — K" — afy ) {fL(K’(ﬂ/), L'(y") + } fn")dn’

That is, for all (k, h, A)
W (k[L+r(@)]) + hw(@) — K (@, k, b A) — 24" (@, k, h; A))
/ /
= B, (h,zp"(®, k,h; A), A)E,, [u/(c*(<1>,¢’,k,hm';f1))?7/ {W(‘I’/) + gh(hWH

Gz, (h’lv l',ha A)
+ gwh(h Th ((I) k‘ h A

where &y =5 [ / f (KL + fic (), L)) + W FL (K (6), L)) — K — )
X {k/*(wa k, h; A)fKL(K,(w/)> L(wl)) + n,g(hv 33‘;;, A)fLL(K,(w/)> L(W))}]dﬁl?ﬁds
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